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He found it in a Chafeesoh  — 2w *yvsm 2xnpeivTa 18 7o%oma IR
or in a D’looskmoh, and he recognizes it, it is Kosher

OVERVIEW
The mwn taught that if one found the ©3 (which he lost) in a 121 X0°9171 and he
recognizes it, the va is w3. Our MooN will clarify this ruling.

= IN9INN 1322120919 299N 1MINY NI INNNIVYI
The 71wn is discussing a case where he himself (the one who lost it) found it,

since we rely on his recognition -
- H1m7an KD 99N S92 INT 939193 PANI XID 192979 NI INTT 23 Y GN)

And even though the finder is not a Torah scholar, nevertheless he is believed,

for he has a % that he could have said, ‘I never lost it’ -
- 55’95 9IW9T9 NIPY MYPP20 119 NN Nivy »7197

Since everyone has a 1y nwav as we explained previously -
- 503N DX 9991 1PRY 29 YY XY IND RPPDITIN) DDA 195999

And the word "95%Y', which the mawn states, is referring to the X»poi»T X257,
and that is sufficient even though he does not recognize the v —

m»ooIn proves that 1737 refers to the X0°51 and not the va:
- "hD29N2 INYNY *H NNY VIN NN V9N INT

For if he recognizes the vx why does the 71wn need to tell us that he found it in
a ROD77; he recognizes the v, that is certainly just as good as recognizing the X0on —

nvoIN asks:
= (3,57 97) TN NINA P92 1299INRTI NINYY YWIN) 9NN ON)

' A marginal note indicates that this M0 is referencing the 73wn on X,12. It seems (from the continuation in this
m»on) that the 71051 was not in its usual place when he found it.

* The xm3 explains X051 to mean a small jug and X107 to mean a purse for elder people.

? See *"w1 on the ox 7"71 oM 7"7 R,1D Mwn that *"wA is 1°On DX 0 (not 17°2m1). The mwn is teaching us two
separate laws, if he has a 1°0 in the 15 X051, or he recognizes the v (wherever it was found), the v is Ww>.

* The one who found it, is the one who informed us that he lost it, so when he says, ‘I recognize it’, he is believed
because he could have never told us that he (lost it and) found it. However if someone else found it he would not be
believed even if he said it was in a R0*9m.

5 RP171 770 2,72, It is only by a 71271 X271% where we believe him with 1y my°av (even without a 13°») however a
‘regular’ person also has 7y M¥°2v and if he has a 1°» he is believed.

® This means he cannot identify the vx with certainty, since he is unaware what the v3 looked like, but (obviously) it
does not mean that he knows it is not the correct va.

7 The same 3 that applies to the X0°or (that *n7ax X2) applies to the va as well. There is no need to mention ¥»
10912,
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And if you will say; but let us be concerned that it was borrowed® as the X713
states’ in the last P75 of N3’ noon —

mBDIN answers:
= DTN DIVYD NYINYN RIY NIV 119D DYDY 990 W

And one can say; that the finder is certain in his knowledge that he never lent
the 710°517 to anyone. Therefore it must certainly be his 03 —

mooIn offers an alternate solution:
- 0yqa9n NNIPOIVTL IN NDANAY Y7992 993 ON

Or you may also answer that he knows that he lost it in a X057 or a X»pPY>7 -
- NI%Y MY’V RNPPOITT IN NDYAN 9991 XY 7Y oypn Yo

But nevertheless (even according to this answer) it is necessary that he

recognizes the 807517 or the 8229197 with 9% nIwaw that it is his -
= 1950 N3 PN 1R RNPPDIYTA IN ND9NAY Y11V NNY

For this which he knows that it was lost in a 825717 or in a X%2po1%7, that is not a
sufficient 3999 that this is the one he lost.

mooIn anticipates a difficulty:
= (8, 97) NYINND NI2T NP 7992 12NT N

And this which the 1w teaches in the first =2 of »''2 noon -
- 25519 MDY YWY AR IN MIOY YV 990 XNPDIYT IN NDIONA N¥N

‘He found a bundle of notes or a bunch of notes in a X021 or in a XapPY»T, etc.,
he should return it’ to the owner of the X101 RO™DM —

mooin replies:
= 19)N2Y D19 19 PTNM 1T Y 1INY NNPPDIVTI IN DTN )10 INNIY 91D ONN

There it is in a case where he gives a 3270 in the 8221 or the X»poY»7 itself (he

¥ Perhaps someone (with the same names) borrowed the X011 and placed his b3 in the X0°511 and when he returned it
he forgot to remove his 03. Previously m201n maintained that he recognizes only the &0°51, but not the va.

’ The X3 there states that we cannot identify a corpse, by its clothing, because perhaps he borrowed it from
someone. See ‘Thinking it over’.

10 See mwn nom1 who maintains that (according to this answer [of 172°X 121 ¥71°1]) he must know that he lost the v3 in
this 770°9517 (not just in any 70°917 [and he recognizes it as his 70°51 with 1Py my°av])

"It is not sufficient that he knows he lost it in a 70°91 (meaning he remembers placing it in the 70°5m), but he must
recognize this 10°917 as being his, for otherwise even though he lost it in a 710°571, nevertheless another ¥"2> may have
lost his v in a 70°517 as well, since (as N19OIN mentions shortly), people generally place items in the 70°91.

"2 Mmoo assumes that the owner only needs to state that the M uw were found in a Xo°on. The same should apply
here by a va that if he says the v was in a X0°577 that should be sufficient to return the v to him, even without My*an
1Y (or a jn°0) in the &o°o1.
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describes its uniqueness) and through this 72°0 we return to him its content, but

not that he merely states in was in a X091 -
- 11 12395 NINYY 19N PN

And we are not concerned for lending it out regarding a monetary issue -
= NRPOIDTA MIVY NIND 7977 1250 %N KXY NNPOIDTI NTANY 9MINY I AN

However this which he says that he lost it in a X»po¥»7, that is not a 32°9, since

it is customary to store M7ww in a NAPOPY?T -
= 1955901 MIVY MNXNPOIVT YWY RNIDINA NIINTD

As the Xn>»m2 states in the Xno2In; ‘I deposited by you ten mx»pe1»7 of nymww —

mooIn adds:
- 91 XY VXN PTNNY PN PIYD N0 1N 1PON)

And even if we will assume that merely saying that it was in a X0°577 is a 129
(regarding returning the M7 vw) nevertheless regarding returning the wa, this is
not considered a P72 398 and the v3 will not be returned on this basis —

mMooIn responds to an anticipated difficulty:
- “hD59n2 NN NI NDIANA IN NIN (x,n3 47 xosm Na3) TININI IIND HINT N

And this which the X7n) states in nIXv3» ¥R P19, he says the V3 was in a Xg2n
(and I lost it, and I did not give it to you yet, so the wife is not divorced yet) and

she says the v3 was in a 89217 (and I lost it after it was given to me as a divorce), the rule is -
- 15955 na Aorana Bnh NINT 991 AP Y111 Y 1NN

It should be given to him and not to her, since she knows that whatever he has
he places it in the 7021 —

mooIn responds:
= PPN 10 DYNT DIVN XD 17‘1):2%‘,7 \FRURPFRAPATIIE 0 V2 ) PRIV R PR

" mooin is explaining why we return the M uw, perhaps he lent out this X0°07 to another person and the borrower,
placed his nvw in the X051, N©OIN responds that the concern for borrowing is only regarding the issue of ¥°X nwX
by a vi (where if a mistake is made there is no recourse), but not regarding monetary issues.

'* The husband and wife are arguing whether she received this (found) va and she is divorced, or not. Each one
claims that they lost the 03, and they both give the same 11°0.

' The fact that she claims it was in a 70°51 is not sufficient proof that she actually received the vx and placed it in a
70°91, but rather it is possible that she never received the v, and she is merely guessing that it was found in a 1705,
since that is where her husband places all his documents, etc.

'® The husband and wife are not giving a 1»°0 in the 70", they are merely saying it was found in a 779°1; indicating
that merely saying that it was found in the 710917 is enough of a Jn°0 to return it to the husband, however n1oI1n just
concluded that merely saying it was found in a 79°97 is an insufficient "0 to return the v3!

7'We could interpret 12 101 to mean that we [do not give it to her so she should be considered divorced, but rather
we] give it to him, but he cannot use it to divorce her, for we are not sure that this is his v3 which he lost. If we
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Even if you are able to say that when the X773 rules ‘it should be returned to
him’, the X7 means it should be returned to him so he can divorce his wife with
this v3, nevertheless the reason we return it to him is not because saying that it

was in a X091 is a P2 390 (which would contradict this which 9010 maintained

previously) -
= 1YY AN ONRT VIN NN NN PPNV 12 GO PN NIWA »991) ONNYT

For the case there is that it was not established that another w''2" exists, and

this w3, which was found, was certainly written 2% for this couple -
= AYNN 1IN YY1 11 Y9 ON P11 PRY NON

But it is not known whether the husband or the wife lost it, and we rule that we do
not assume that she was divorced, so we give it to the husband and if he wishes he divorces her
with it now. This concludes one explanation of n1voN.

In summation; the mawn states if it was found 70°912 and he recognizes the 7051 with Py iy,
he may use this v (even if he does not recognize the v3).

mooIn offers an alternate explanation:
- 19591 I N> 50937 02990 W 719591, X w1959 19591 Prms on

Or you may also say; when the 71wn writes '19%5%2Y' it means, ‘or he recognizes it,

and there are texts which read explicitly '1995% X' (or he recognizes it) -
- y12o8 °n99naY oM 1YY NINY YY) NNIPOIYTA IN ND29NI INSN IYINQ 29

And this is the explanation (according to this X07°3); ‘he found it in a 7©°5717 or in
a X»po1»7’ and he knows that the 710°o1 is his and he also knows that he lost it
inside this m7o%2n, so -
= D)D) 9919 NV 29 Yy 9N
Even though he does not recognize the v, it is a “w> v3. The mwn» continues -
= 109N NXJ2I1D%AN VI 99919V 19991 IN

‘or he recognizes it’, meaning he recognizes the v even without the 170%0n, it is
W -

assume that interpretation then there is no question at all. M90In is saying that even if we interpret '2 Jn>' to mean
that he may use this 03 to divorce her; indicating that we believe that this is his v3, nevertheless there is still no
difficulty.

'8 This seems to be another way how to explain why we are not 728> W

¥ See footnote # 3.

0 See footnote # 9. This answer is the same as Moo said previously (footnote # 9 & 10) with the variation that
there MpoIN says he recognizes the 70°91, and here MoOIN says it is ¥17° (presumably with 0°7y). Previously the 17701
was referring to the 70°51, however here the 173 is referring to the v3; the case of 710517 is not by 17°n. See X"wAnn
and w"w" who amends it to read ¥71 (instead of ¥17).
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mooin offers a third rendition:
= Y¢99%9 Y91 19991 ON YD9)T 0990 VU

And some texts read, 17°2» 2R (if he recognizes it); this means -
= 9Y5 99991 ON 91 179N 1TV 1IN 172N N9INA XYY Y119 NDANA INSH

He found it in a 19917 and he knows he did not lose it in this 19°917 and he

knows that the 70°977 is not his, but nevertheless if he recognizes the vi it is 9w> -
= ND9N INYND VP XM

And the 71w» mentions he found it in a 70917 as a novelty that even though it is not
his 710°917 and he did not lose it in the 79°97, but since he recognizes the v3 it is 2.

A different twist on this XD7):
= D599 139N 172N NIPDIZTA IN NDANAY Y11 XYY N1 DAN 9WI 19991 ON XPNT 9193 ON

Or you may also say the reason the 71wn writes it in this manner is to teach us that
it is "w> only if he recognizes the v3, but knowing that he lost it in a 579°27 or in

a Rnpo7 is insufficient to make it “w» -
22, 195913 ON P99 W95 1813 19991 20921 09909

And those texts that read 199221 can interpret it as we interpreted the texts who
read y75on 2R.

SUMMARY

The 71wn may be discussing one case and he is recognizing the X0°511 (but not the
v3) or it may be discussing two cases, either we know the 70°91 is his or he
recognizes the v.

THINKING IT OVER

mooIn asks why do we depend on his recognizing the 710°51, perhaps he lent it to
someone, etc.”, just as we have this concern in nMn2 'on.** However how can we
compare the two cases; by clothes it is possible that the deceased borrowed
someone else’s clothes, but by the 79°91 to say that he lent the 710°517 to someone

else and another w"2 placed his v there, seems too far-fetched?!®

! They can also interpret it in the two ways just mentioned if we are 17°3n oX 071, meaning it can be Xm3a7? that
even if he only recognizes the v3, or he must recognize the v as mentioned earlier.

2 1f we are 17" IR 07 then there are two cases (either the 70°517 or the v are the 12°0); if we are 17°2% oR 0713 there
is only one case (the v is the 12°0); if we are 177321 07 it can understood either like X or like oX.

2 See footnote # 8.

# See footnote # 9.

» See w"wn.
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